

COMMUNICATIONS

DE LA FACULTÉ DES SCIENCES
DE L'UNIVERSITÉ D'ANKARA

Série A₁: Mathématiques

TOME 28

ANNÉE 1979

The Sequence Space $l(p,s)$ And Related Matrix Transformations

by

E. BULUT and Ö. ÇAKAR

6

**Faculté des Sciences de l'Université d'Ankara
Ankara, Turquie**

Communications de la Faculté des Sciences de l'Université d'Ankara

Comité de Rédaction de la Série A₁

B. Yurtsever H. Hacısalihođlu M. Oruç

Secrétaire de publication

A. Yalçın

La Revue "Communications de la Faculté des Sciences de l'Université d'Ankara" est un organe de publication englobant toutes les disciplines scientifiques représentées à la Faculté.

La Revue, jusqu'à 1975 à l'exception des tomes I, II, III. était composée de trois séries:

Série A: Mathématiques, Physique et Astronomie.

Série B: Chimie.

Série C: Sciences naturelles.

A partir de 1975 la Revue comprend sept séries:

Série A₁: Mathématiques

Série A₂: Physique

Série A₃: Astronomie

Série B: Chimie

Série C₁: Géologie

Série C₂: Botanique

Série C₃: Zoologie

En principe, la Revue est réservée aux mémoires originaux des membres de la Faculté. Elle accepte cependant, dans la mesure de la place disponible, les communications des auteurs étrangers. Les langues allemande, anglaise et française sont admises indifféremment. Les articles devront être accompagnés d'un bref sommaire en langue turque.

Adres: Fen Fakóltesi Tebliđler Dergisi Fen Fakóltesi, Ankara, Turquie.

The Sequence Space $l(p,s)$ And Related Matrix Transformations

E. BULUT and Ö. ÇAKAR

Dept. of Mathematics, Faculty of Science
(Ankara University, Ankara)

(Received 14 June 1979, and accepted 12 September 1979)

SUMMARY

In this paper, our main purpose is to define and to investigate the sequence space $l(p,s)$ and to determine the matrices of classes $(l(p,s), l_\infty)$ and $(l(p,s), c)$ where l_∞ and c are respectively the spaces of bounded and convergent complex sequences and for $p = (p_k)$ with $p_k > 0$, the space $l(p,s)$ is defined by

$$l(p,s) = \{ x = (x_k) : \sum_{k=1}^{\infty} k^{-s} |x_k|^{p_k} < \infty, s \geq 0 \}.$$

1. Let $A = (a_{nk})$ be an infinite matrix of complex numbers a_{nk} ($n, k = 1, 2, \dots$) and v, w be two subsets of the space of complex sequences. We say that the matrix A defines a matrix transformations from v into w and denote it by writing $A \in (v, w)$, if for every sequence $x = (x_k) \in v$ the sequence $Ax = (A_n(x)) \in w$,

$$\text{where } A_n(x) = \sum_{k=1}^{\infty} a_{nk} x_k.$$

In this paper, our main purpose is to define and to investigate the sequence space $l(p,s)$ and to determine the matrices of classes $(l(p,s), l_\infty)$ and $(l(p,s), c)$, where l_∞ and c are respectively the spaces of bounded and convergent complex sequences and for $p = (p_k)$ with $p_k > 0$, the space $l(p,s)$ is defined by

$$l(p,s) = \{ x = (x_k) : \sum_{k=1}^{\infty} k^{-s} |x_k|^{p_k} < \infty, s \geq 0 \}.$$

Obviously, the sequence space

$$l(p) = \{ x = (x_k) : \sum_{k=1}^{\infty} |x_k|^{p_k} < \infty, p_k > 0 \}$$

which has been investigated by several authors [1,3,5,7,] is a special case of $l(p, s)$ which corresponds to $s = 0$. And $l(p, s) \supset l(p)$.

Throughout the paper the following well-known inequalities will be used frequently.

For any complex numbers a, b ,

$$|a + b|^p \leq |a|^p + |b|^p \quad (1)$$

where $0 < p \leq 1$; and

$$|a \cdot b| \leq |a|^q + |b|^p \quad (2)$$

where $1 < p < \infty$ and $p^{-1} + q^{-1} = 1$. \mathbf{N} will denote the set of natural numbers and \mathbf{R} the set of real numbers.

Using the same kind of argument to that in [4], we get that the necessary and sufficient condition for $l(p, s)$ to be linear is

$$0 < p_k \leq \sup_k p_k = H < \infty.$$

To begin with we can show that the space $l(p, s)$ is paranormed by

$$g(x) = \left(\sum_{k=1}^{\infty} k^{-s} |x_k|^{p_k} \right)^{1/M}, \quad (3)$$

where $H = \sup_k p_k < \infty$, and $M = \max(1, H)$. Clearly, $g(\theta) = 0$ and $g(x) = g(-x)$, where $\theta = (0, 0, \dots)$. Take any $x, y \in l(p, s)$. Since $p_k/M \leq 1$ and $M \geq 1$, using the Minkowski's inequality we have

$$\begin{aligned} & \left(\sum_{k=1}^{\infty} k^{-s} |x_k + y_k|^{p_k} \right)^{1/M} \\ & \leq \left(\sum_{k=1}^{\infty} k^{-s} |x_k|^{p_k} \right)^{1/M} + \left(\sum_{k=1}^{\infty} k^{-s} |y_k|^{p_k} \right)^{1/M} \end{aligned}$$

which shows that g is subadditive.

Finally, to check that the continuity of multiplication, let us take any complex λ . Then we have

$$g(\lambda x) = \left(\sum_{k=1}^{\infty} k^{-s} |\lambda x_k|^{p_k} \right)^{1/M} \leq \sup_k |\lambda|^{p_k/M} \cdot g(x).$$

Now, let $\lambda \rightarrow 0$ for any fixed x with $g(x) \neq 0$. Since $\sum_{k=1}^{\infty} k^{-s} |x_k|^{p_k} < \infty$, there exists an integer $N > 0$, for $|\lambda| < 1$ and $\varepsilon > 0$, such that

$$\sum_{k=N+1}^{\infty} k^{-s} |\lambda x_k|^{p_k} < (\varepsilon/2)^M < \varepsilon/2. \quad (4)$$

Taking $|\lambda|$ sufficiently small such that $|\lambda|^{p_k} < \varepsilon/2 g(x)$ for $k = 1, 2, \dots, N$; then we have

$$\sum_{k=1}^N k^{-s} |\lambda x_k|^{p_k} < \varepsilon/2. \quad (5)$$

(4) and (5) together implies that $g(\lambda x) \rightarrow 0$ as $\lambda \rightarrow 0$.

It is quite routine to show that $(l(p, s), d)$ is a metric space with the metric d defined by $d(x, y) = g(x - y)$ providing that $x, y \in l(p, s)$, where g is defined by (3). And using the similar method to that in [6] one can show that for $0 < m = \inf p_k \leq p_k \leq \sup p_k = H < \infty$, $l(p, s)$ is complete under the metric mentioned above.

We shall also say that (e_k) is a Schauder base for $l(p, s)$, where e_k is a sequence with 1 in the k th place and zero elsewhere.

2. Now we are going to give the following theorem by which the Köthe-Toeplitz dual of $l(p, s)$ will be determined.

THEOREM 1. (i). If $1 < p_k \leq \sup p_k = H < \infty$ and $p_k^{-1} + q_k^{-1} = 1$ for $k = 1, 2, \dots$ then

$$l^{\dagger}(p, s) = \left\{ a = (a_k) : \sum_{k=1}^{\infty} k^{s(q_k-1)} N^{-q_k/p_k} |a_k|^{q_k} < \infty, \right. \\ \left. s > 0, \text{ for some integer } N > 1 \right\}$$

(ii) If $0 < m = \inf p_k \leq p_k \leq 1$ for each $k = 1, 2, \dots$ then

$l^{\dagger}(p, s) = m(p, s)$, where

$$m(p, s) = \{ a = (a_k) : \sup_k k^s |a_k|^{p_k} < \infty, s \geq 1 \}. \quad (6)$$

PROOF. (i). Let $1 < p_k \leq \sup p_k = H < \infty$ and $p_k^{-1} + q_k^{-1} = 1$ for each $k \in \mathbb{N}$. Then take

$$E(p,s) = \left\{ a=(a_k): \sum_{k=1}^{\infty} k^{s(q_k-1)} N^{-q_k/p_k} \quad |a_k|^{q_k} < \infty, s \geq 0, \right. \quad (7)$$

$$\left. \text{for some integer } N > 1 \right\}$$

We now want to show that $l^\dagger(p,s) = E(p,s)$. Let $x \in l(p,s)$, $a \in E(p,s)$ and N be the associated number with a . Therefore, using the inequality (2), we get

$$|a_k x_k| \leq k^{s(q_k-1)} N^{-q_k/p_k} |a_k|^{q_k} + N k^{-s} |x_k|^{p_k}.$$

So $\sum |a_k x_k|$ is convergent which implies that $\sum a_k x_k$ converges, i. e., $a \in l^\dagger(p,s)$. In other words, $l^\dagger(p,s) \subset E(p,s)$.

Conversely, let us suppose that $\sum a_k x_k$ is convergent and $x \in l(p,s)$, but $a \notin E(p,s)$. Then we write that

$$\sum_{k=1}^{\infty} k^{s(q_k-1)} N^{-q_k/p_k} |a_k|^{p_k} = \infty$$

for each $s \geq 0$ and for every $N > 1$. So we can find a sequence $0 = n(0) < n(1) < n(2) < \dots$ such that for $v = 1, 2, \dots$

$$M_v = \sum_{I(v)} k^{s(q_k-1)} (v+1)^{-q_k/p_k} |a_k|^{q_k} > 1$$

where the sum \sum is taken over the range $n(v-1) + 1 \leq k \leq n(v)$.

Now, define a sequence $x = (x_k)$ as follows:

$$x_k = (\text{sgn } a_k) |a_k|^{q_k-1} k^{s(q_k-1)} (v+1)^{-q_k/p_k} M_v^{-1} \quad ; k \in I(v)$$

$$x_k = 0 \quad ; k \notin I(v).$$

Then we find that

$$\begin{aligned} \sum_{I(v)} a_k x_k &= \sum_{I(v)} |a_k|^{q_k} k^{s(q_k-1)} (v+1)^{-q_k/p_k} M_v^{-1} \\ &= \sum_{I(v)} |a_k|^{q_k} k^{s(q_k-1)} (v+1)^{-q_k/p_k} M_v^{-1} (v+1)^{-1} \\ &= (v+1)^{-1} \end{aligned}$$

but

$$\begin{aligned} \sum_{I(\nu)} k^{-s} |x_k|^{p_k} &= \sum_{I(\nu)} k^{-s} |a_k|^{(q_k-1)p_k} k^{s(q_k-1)p_k} (\nu+1)^{-q_k p_k} M_\nu^{-p_k} \\ &= \sum_{I(\nu)} |a_k|^{q_k} k^{s q_k} k^{-s} (\nu+1)^{-q_k/p_k} (\nu+1)^{-1-p_k} M_\nu^{-p_k} \\ &\leq (\nu+1)^{-2} M_\nu^{-1} \sum_{I(\nu)} |a_k|^{q_k} k^{s(q_k-1)} (\nu+1)^{-q_k/p_k} \\ &= (\nu+1)^{-2} \end{aligned}$$

that is, $\sum a_k x_k$ diverges but $x \in l(p, s)$. And this contradicts to our assumption. So $a \in E(p, s)$, i.e., $l^\dagger(p, s) \subset E(p, s)$. Then combining these two results we get

$$l^\dagger(p, s) = E(p, s).$$

(ii). Let $0 < m = \inf_k p_k \leq p_k \leq l$ for each $k \in \mathbb{N}$. Now we want to show that $l^\dagger(p, s) = m(p, s)$ where

$$m(p, s) = \{a = (a_k) : \sup_k k^s |a_k|^{p_k} < \infty, s \geq 0\}.$$

Suppose that $\sum a_k x_k$ converges and $x \in l(p, s)$ but $a \notin m(p, s)$. Then we can choose a sequence $1 \leq \nu(1) < \nu(2) < \dots$ such that

$$(\nu(q))^{s p_{\nu(q)}} |a_{\nu(q)}|^{p_{\nu(q)}} \geq q^2 \quad (q = 1, 2, \dots).$$

Then for a sequence (x_k) defined by

$$x_k = a_k^{-1} \quad k = \nu(q), \quad q = 1, 2, \dots$$

$$x_k = 0 \quad k \neq \nu(q)$$

we get

$$\begin{aligned} \sum_{k=1}^{\infty} k^{-s} |x_k|^{p_k} &= \sum_{q=1}^{\infty} (\nu(q))^{-s} |a_{\nu(q)}|^{-p_{\nu(q)}} \\ &\leq \sum_{q=1}^{\infty} q^{-2} < \infty \end{aligned}$$

but

$$\sum_{k=1}^{\infty} a_k x_k = \sum_{q=1}^{\infty} 1 = \infty$$

which is a contradiction. So $a \in m(p, s)$.

Conversely, let $a \in m(p, s)$ and $a \neq 0$. Let $\sup_k k^s |a_k|^{p_k} = B$, say. Then the series $\sum a_k x_k$ is convergent for $x \in l(p, s)$ provid-

ing that $\sum k^{-s} |x_k|^{p_k} \leq 1/B$. Because, the assumption

$\sup_k k^s |a_k|^{p_k} = B$ gives the result $k^s |a_k|^{p_k} \leq B$ for each k . And

considering the inequality $\sum k^{-s} x_k^{p_k} \leq 1/B$, we find that

$k^{-s} |x_k|^{p_k} \leq 1/B$ for each k . Then multiplying these two results

we obtain $|a_k x_k|^{p_k} \leq 1$ and $|a_k x_k| \leq |a_k x_k|^{p_k} \leq 1$, since $0 < p_k \leq 1$. Therefore $\sum a_k x_k$ converges, since

$$\sum_{k=1}^{\infty} |a_k x_k| \leq \sum_{k=1}^{\infty} |a_k x_k|^{p_k} \leq \sup_k k^s |a_k|^{p_k} \sum_{k=1}^{\infty} k^{-s} |x_k|^{p_k} < \infty.$$

But, if $x \in l(p, s)$ then, since $l(p, s)$ is linear, we can find an integer

$N > 1$ such that $\sum_{k=1}^{\infty} k^{-s} \left| \frac{x_k}{N} \right|^{p_k} \leq 1/B$. Therefore, the above

discussion gives the convergence of $\sum a_k x_k / N$ and so $\sum a_k x_k$ is convergent, i.e., $a \in l^\dagger(p, s)$, which completes the proof of the theorem.

Let us now determine the continuous dual of $l(p, s)$ by the following theorem.

THEOREM 2. (i). *If $1 < p_k \leq \sup_k p_k = H < \infty$ for $k = 1, 2, \dots$ then $l^*(p, s)$, i.e., the continuous dual of $l(p, s)$, is isomorphic to $E(p, s)$ which is defined by (7).*

(ii). *If $0 < m = \inf_k p_k \leq p_k \leq 1$ for each $k = 1, 2, \dots$ then $l^*(p, s)$ is isomorphic to $m(p, s)$ which is defined by (6).*

PROOF. (i). Since $e_k, k = 1, 2, \dots$ are the unit vectors of $l(p, s)$ then, for every x in $l(p, s)$, we can write $x = \sum_{k=1}^{\infty} x_k e_k$,

whence $f(x) = \sum_{k=1}^{\infty} a_k x_k$ for any f in $l^*(p, s)$, where $f(e_k) = a_k$.

By Theorem 1 (i), the convergence of $\sum_{k=1}^{\infty} a_k x_k$ for every x in $l(p, s)$ implies that $a \in E(p, s)$.

If $x \in l(p, s)$ and if we take $a \in E(p, s)$ then, by Theorem 1 (i), $\sum_{k=1}^{\infty} a_k x_k$ converges and clearly defines a linear functional on $l(p, s)$.

Using the same kind of argument to that in Theorem 1 (i) it is easy to check that

$$\left| \sum_{k=1}^{\infty} a_k x_k \right| \leq \left(\sum_{k=1}^{\infty} |a_k|^{q_k} N^{-q_k/p_k} k^{s(q_k-1)} + N \right) g(x)$$

whenever $g(x) \leq 1$, where $g(x) = \left(\sum_{k=1}^{\infty} k^{-s} |x_k|^{p_k} \right)^{1/M}$ and

$p_k^{-1} + q_k^{-1} = 1$. Hence $\sum_{k=1}^{\infty} a_k x_k$ defines an element of $l^*(p, s)$.

Obviously, the map $T : l^*(p, s) \rightarrow E(p, s)$ given by $T(f) = a$ is linear and bijective.

(ii) Since the sequence (e_k) is a Schauder base for $l(p, s)$, we can write $x = \sum_{k=1}^{\infty} x_k e_k$ for every $x \in l(p, s)$. Then, for every f in $l^*(p, s)$, $f(x) = \sum_{k=1}^{\infty} a_k x_k$, where $a_k = f(e_k)$. So, by Theorem 1 (ii),

the convergence of $\sum_{k=1}^{\infty} a_k x_k$ for every $x \in l(p, s)$ implies that

$a \in m(p, s)$. Now, if $x \in l(p, s)$ and $a \in m(p, s)$ then $\sum_{k=1}^{\infty} a_k x_k$ converges by Theorem 1(ii) and, of course, defines a linear functional on $l(p, s)$.

Now, we must show that $f(x) = \sum_{k=1}^{\infty} a_k x_k$ is continuous.

Let $x \in l(p, s)$ and $\varepsilon > 0$ is given and $d(0, x) = g(x) \leq$

$\frac{\min(l, \varepsilon)}{B}$ where $B = \sup_k k^s |a_k|^{p_k} < \infty$. Then, by the same method used in Theorem 1 (ii), we see that $|f(x)| = |\sum_{k=1}^{\infty} a_k x_k| \leq \sum_{k=1}^{\infty} |a_k x_k| < \varepsilon$ which implies the continuity of f at the origin. So, f is continuous at every point of $l(p,s)$, since f is a linear functional on $l(p,s)$. Hence $\sum_{k=1}^{\infty} a_k x_k$ defines an element of $l^*(p,s)$. It is now evident that the map $T: l^*(p,s) \rightarrow m(p,s)$ given by $T(f) = a$ is a linear bijection.

3. In the following theorems we are going to characterize the matrix classes $(l(p,s), l_{\infty})$ and $(l(p,s), c)$.

THEOREM 3. (i). *If $1 < p_k \leq \sup_k p_k = H < \infty$ for every $k \in \mathbb{N}$ then $A \in (l(p,s), l_{\infty})$ if and only if there exists an integer $D > 1$ such that*

$$\sup_n \sum_{k=1}^{\infty} |a_{nk}|^{q_k} D^{-q_k} k^{s(q_k-1)} < \infty. \quad (8)$$

(ii) *If $0 < m = \inf_k p_k \leq p_k \leq 1$ for each $k \in \mathbb{N}$, then $A \in (l(p,s), l_{\infty})$ if and only if*

$$K = \sup_{n,k} |a_{nk}|^{p_k} k^s < \infty. \quad (9)$$

PROOF. (i). **Sufficiency.** By using the inequality (2) we get

$$|a_{nk} x_k| \leq D [|a_{nk}|^{q_k} k^{s(q_k-1)} D^{-q_k} + |x_k|^{p_k} k^{-s}]$$

for every n . Then, if we take the sum in both sides over k from 1 to ∞ and consider the hypothesis, we obtain, for every n ,

$$|\sum_{k=1}^{\infty} a_{nk} x_k| \leq \sum_{k=1}^{\infty} |a_{nk} x_k| < \infty,$$

i.e., $(A_n(x)) \in l_{\infty}$, whenever $x \in l(p,s)$.

Necessity. Suppose that $A \in (l(p, s), l_\infty)$ but that

$$\sup_n \sum_{k=1}^{\infty} |a_{nk}|^{q_k} N^{-q_k} k^{s(q_k-1)} = \infty$$

for every integer $N > 1$. Then $\sum_{k=1}^{\infty} a_{nk} x_k$ converges for every n

and for every $x \in l(p, s)$, whence $(a_{nk})_{k=1,2,\dots} \in l^\dagger(p, s)$ for every n . By Theorem 2 (i), it follows that each A_n defined by $A_n(x) =$

$\sum_{k=1}^{\infty} a_{nk} x_k$ is an element of $l^*(p, s)$. Since $l(p, s)$ is complete and

since $\sup_n |A_n(x)| < \infty$ on $l(p, s)$, there exists by the uniform boundedness principle a number L independent of n and x , and a number $\delta < 1$ such that

$$|A_n(x)| \leq L \tag{10}$$

for every $x \in S[0, \delta]$ and every n , where by $S[0, \delta]$ we denote the closed sphere in $l(p, s)$ with centre at the origin $\theta = (0, 0, \dots)$ and radius δ .

Now choose an integer $Q > 1$ such that

$$Q \delta^H > L.$$

By our assumption we have

$$\sup_n \sum_{k=1}^{\infty} |a_{nk}|^{q_k} Q^{-q_k} k^{s(q_k-1)} = \infty$$

and so two cases are possible: either

$$\sum_{k=1}^{\infty} |a_{nk}|^{q_k} Q^{-q_k} k^{s(q_k-1)} < \infty$$

for every $n \geq 1$ or there exists an $n \geq 1$ such that

$$\sum_{k=1}^{\infty} |a_{nk}|^{q_k} Q^{-q_k} k^{s(q_k-1)} = \infty.$$

In the first case, there exists $n \geq 1$ such that

$$\sum_{k=1}^{\infty} |a_{nk}|^{q_k} Q^{-q_k} k^{s(q_k-1)} > 2$$

and there exists $k_0 > 1$ such that

$$\sum_{k=k_0+1}^{\infty} |a_{nk}|^{q_k} Q^{-q_k} k^{s(q_k-1)} < 1$$

whence

$$\sum_{k=1}^{k_0} |a_{nk}|^{q_k} Q^{-q_k} k^{s(q_k-1)} > 1.$$

In the second case we may choose $k_0 > 1$ such that

$$\sum_{k=1}^{k_0} |a_{nk}|^{q_k} Q^{-q_k} k^{s(q_k-1)} > 1$$

so that in either case there exist an $n \geq 1$ and $k_0 > 1$ such that

$$V = \sum_{k=1}^{k_0} |a_{nk}|^{q_k} Q^{-q_k} k^{s(q_k-1)} > 1. \quad (11)$$

We now define using (10) a sequence $x = (x_k)$ as follows:

$$\begin{aligned} x_k &= \delta^{H/p_k} |a_{nk}|^{q_k-1} (\text{sgn } a_{nk}) V^{-1} Q^{-q_k/p_k} k^{s(p_k-1)} & ; 1 \leq k \leq k_0 \\ x_k &= 0 & ; k > k_0 \end{aligned}$$

Then one can easily show that $g(x) \leq \delta$ but $|A_n(x)| > L$, which contradicts to (10). This completes the proof of Theorem 3 (i).

(ii) The sufficiency and the necessity can be proved respectively by the same kind of argument used in Theorem 2 (ii) and by the uniform boundedness principle.

THEOREM 4. (i). *Let $1 < p_k \leq \sup_k p_k = H < \infty$ for every $k \in \mathbf{N}$. Then $A \in (l(p, s), c)$ if and only if together with (8) the condition*

$$a_{nk} \rightarrow \alpha_k \quad (n \rightarrow \infty, k \text{ fixed}) \quad (12)$$

hold.

(ii) *Let $0 < m = \inf_k p_k \leq p_k \leq 1$ for every $k \in \mathbf{N}$. Then $A \in (l(p, s), c)$ if and only if the conditions (9) and (12) hold.*

PROOF. (i). The necessity of (12) can easily be obtained using the unit vector e_k . For the sufficiency we have, for every integer $r \geq 1$ and every n

$$\sum_{k=1}^r |a_{nk}|^{q_k} D^{-q_k} k^{s(q_k-1)} \leq \sup_n \sum_{k=1}^{\infty} |a_{nk}|^{q_k} D^{-q_k} k^{s(q_k-1)} < \infty.$$

So,

$$\lim_{r \rightarrow \infty} \lim_{n \rightarrow \infty} \sum_{k=1}^r |a_{nk}|^{q_k} D^{-q_k} k^{s(q_k-1)} \leq \sup_n \sum_{k=1}^{\infty} |a_{nk}|^{q_k} D^{-q_k} k^{s(q_k-1)}$$

i.e.,

$$\sum_{k=1}^{\infty} |\alpha_k|^{q_k} D^{-q_k} k^{s(q_k-1)} < \sup_n \sum_{k=1}^{\infty} |a_{nk}|^{q_k} D^{-q_k} k^{s(q_k-1)} .$$

Hence $(\alpha_k) \in l^\dagger(p, s)$ and since also $(a_{nk})_{k=1, 2, \dots} \in l^\dagger(p, s)$ the series $\sum_{k=1}^{\infty} \alpha_k x_k$ and $\sum_{k=1}^{\infty} a_{nk} x_k$ converge for every n and for every $x \in l(p, s)$.

We can choose an integer $r \geq 1$ such that

$$\sum_{k=r+1}^{\infty} k^{-s} |x_k|^{p_k} < 1$$

whenever $x \in l(p, s)$. Then by the proof of Theorem 2 (i) and by the inequality (2) we have

$$\sum_{k=r+1}^{\infty} |a_{nk} - \alpha_k| |x_k| \leq 2D \left[1 + 2 \sup_n \sum_{k=1}^{\infty} |a_{nk}|^{q_k} D^{-q_k} k^{s(q_k-1)} \right] \left[\sum_{k=r+1}^{\infty} k^{-s} |x_k|^{p_k} \right]^{1/H}$$

which implies that

$$\lim_{n \rightarrow \infty} \sum_{k=1}^{\infty} a_{nk} x_k = \sum_{k=1}^{\infty} \alpha_k x_k .$$

(ii) By the proof of Theorem 2 (ii) we get the proof of this part in a similar way to that in (i).

REMARK. To be able to get the necessary and sufficient condition for $A \in (l(p, s), c_0)$, where c_0 is the space of null sequences, it would be enough to take $\alpha_k = 0$ in the above theorem.

ÖZET

Bu çalışmada amacımız, $p_k > 0$ olmak üzere $p = (p_k)$ dizisi için

$$l(p, s) = \left\{ x = (x_k) : \sum_{k=1}^{\infty} k^{-s} |x_k|^{p_k} < \infty, s \geq 0 \right\} .$$

ile tanımladığımız $l(p, s)$ dizi uzayını sınırlı $p = (p_k)$ için incelemektir. Ayrıca l_∞ ve c sırasıyla sınırlı ve yakınsak kompleks terimli dizilerin oluşturduğu dizi uzaylarını göstermek üzere $(l(p, s), l_\infty)$ ve $(l(p, s), c)$ matris sınıfları belirlenmiştir.

REFERENCES

- [1] **Lascarides, C.G. and Maddox, I.J.** Matrix transformations between some classes of sequences. Proc. Camb. Phil. Soc. 68 (1970), 99-104.
- [2] **Maddox, I.J.** Spaces of strongly summable sequences. Quart. J. Math. Oxford Ser. 2, 18 (1967), 345-355.
- [3] **Maddox, I.J.** Paranormed sequence spaces generated by infinite matrices. Proc. Camb. Phil. Soc. 63 (1968), 335-340.
- [4] **Maddox, I.J.** Some properties of paranormed sequence spaces, J. London Math. Soc. (2), 1 (1969), 316-322.
- [5] **Maddox, I.J.** Continuous and Köthe-Toeplitz duals of certain sequence spaces. Proc. Camb. Phil. Soc. 65 (1969), 431-435.
- [6] **Maddox, I.J.**, Elements of functional analysis, University Press, Cambridge, 1970.
- [7] **Simons, S.**, The sequence spaces $l(p_\nu)$ and $m(p_\nu)$. Proc. London Math. Soc. (3), 15 (1965) 422-436.

Prix de l'abonnement annuel

Turquie: 15 TL; Etranger: 30 TL.

Prix de ce numéro: 5 TL (pour la vente en Turquie).

Prière de s'adresser pour l'abonnement à: Fen Fakültesi
Dekanlığı Ankara, Turquie.